
PROFEX SZAKNYELVI VIZSGA 
 

B1 (alapfok) – angol nyelv 

Írásbeli 

Olvasáskészség 

 

§§ 

vizsgázó sorszáma: 

 

MINTATESZT 

Olvassa el a szöveget és az olvasott szöveg alapján oldja meg a feladatlapot.  

Elérhető pontszám: 20 pont. 

Figyelem! A vizsga akkor lehet sikeres, ha a vizsgázó részegységenként legalább 40%-ot teljesít.  

Végső megoldásként csak a tintával írt változatot fogadjuk el. 

Kérjük, hogy jól gondolja meg a válaszát, mivel bármilyen válaszmódosítás esetén válasza érvénytelen. 
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MEGOLDÓKULCS  

1. szöveg  

I. Karikázza be az egyedüli helyes állítás betűjelét a szöveg alapján! Elérhető pontszám: 4 pont 

 

1. A/ According to the rule of the European court ordinary people may forget irrelevant information. 

B/ If Google shows links to out-dated information, ordinary people may request the 

amendment of search results. 

 C/ According to the decision of the European court the right to request information must be 

forgotten. 

 D/ The European court tested the right to be forgotten. 

 

2. A/ The court found the solution for people if their information had been published. 

 B/ People who are not public figures are entitled to ask for the removal of their data from 

search engine results. 

 C/ Under European law legally published information may be removed from search engine results. 

 D/ People who are not public figures may forget data stored in the Internet. 

 

3/ A/ If people do not agree with the search engine, they may ask for its merits. 

 B/ People who are not satisfied may request the operator to examine the search engine. 

 C/ The operator of the search engine may be asked to examine their merits. 

 D/ The operator of the search engine can be directly contacted.  

 

4/ A/ Google’s argument was that it cannot be blamed. 

 B/ Google claimed that its activity does not include data control. 

 C/ Google was not concerned with legal publications. 

 D/ Legally published information has nothing to do with Google. 

 

 

II. Egészítse ki az alábbi mondatokat a szöveg alapján egyetlen odaillő szóval! Elérhető pontszám: 6 pont 
 

According to the ______ruling______ (1) of the European court, there are several factors the operator 

should take into account as to whether the request could be ______granted____.(2) One of these factors is 

the ____nature____ (3) of the given information or even public _______interest____ (4) which can be 

influenced by the circumstances. Google argued that it just lets people reach information ___available___ 

(5) on the Internet and it does not want to be ____forced_____ (6) to check legally published information.  
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2. szöveg 

 

1. Párosítsa össze a bekezdésösszegzőket a szöveg bekezdéseivel! Két címet nem kell felhasználnia! 

          Elérhető pontszám: 4 pont 

 

A. The meaning of drug-related crime __2_ 

B. Aggravating factors of imprisonment _-__ 

C. Offences and statistics _1__ 

D. Correlation between drug statistics and penalty issues __4_ 

E. Crimes related to drugs _3__ 

F. Causes of drug-related crimes _-__ 

 

II. Egészítse ki az alábbi mondatokat a szöveg alapján egyetlen odaillő szóval! Elérhető pontszám: 6 pont 

 

Drug offences and crimes have ___multiple__ (1) bearing. These type of offences cover a large area from 

the crime of owing something illegally, i.e. ____possession__ (2), to selling and buying drugs, i.e. 

____trafficking____ (3). Sometimes drug takers even commit crimes due to the ____effect___ (4) of 

narcotic or steal something, namely commit _____theft__ (5) to supply their needs. In the future law 

enforcement authorities will concentrate on ___policing__ (6) drug related offences.  

 


